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analysis setup

* run 349369
-10 <zvtx<10
no bbc charge cut



 During runll, we noticed mean of bbcz and Z- VTX( z-vertex
measured by VTX) had a large difference (~4.5cm)

* VTX group asked BBC

1400

experts to move bbcz

mean position, because -
VTX lost BBC narrow trigger 1000}
events around 10 %. i
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After June 7t 2011, bbcz mean is roughly adjusted to Z-VTX (next
slide)



bbcz — svx primary (Z)
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This is a difference btw 20000/

bbcz and primary z_vertex -
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padvtx|[2]-svx primary z

but,in the same run,

Z_vertex calculated
from pad chamber
is off from VTX_Z
(~1 cm)

There is a discrepancy
between pad chamber
coordinate and VTX

coordinate in z-direction.
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padvtx is obtained from vtxout
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pczvix_west:bbez {abs(tr_phi)<1.5 8& abs(pczvtx_west)<200 }
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search window from bbcz

1.select pcl,3 clusters associated with

CNT track

2. straight line projection to (x,y)=(0,0)

3. cut z_vertex far from bbcz (>4cm)
4. calculate mean of zvtx from 3. on east

and west arm individually event by event.
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pc3dz <

PC3
2.4m
PC1
2.5m
CNT track pc3dz=
bbcz (cluster position — CNT projected point)
Eile Edit Miew Options Tools HE.
tr_pc3dz {abs(tr _phi)<1.5 && bbccharge<200}
h2

There is also a 12000 - Entries 1529190

. n Mean 0.5741
discrepancy btw N RMS 4.037
EAST arm and WEST 10000[—
arm. - Lﬂ 11 blue:west pc3dz

8000 — 1. red:east pc3dz

This plot is pc3dz for - Jl ol J
west arm only(blue) 6000—
and pc3dz for east arm B IJ
only (red). 40001
(bbc charge <200 cut is B
applied.) 2000l
The difference is ~1cm. -
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EMCal cluster

PC1
CNT track
bbcz
emcdz {abs({tr_phi}<1.5 &% abz(emcdz)<=100 && abs(emcdphi}<0.04 && bbccharge<200}
h2

14000 Entries 686508
There is another evidence Eﬂa%n -ﬂ-ﬂaﬁ?gg
of EAST-WEST discrepancy. '

12000
This plot is emcdz for west 10000 blue:west emcdz

arm only(blue) and emcdz
for east arm only (red).
The difference is ~2,3cm.
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pclz vs pc3 dz (east)
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Summary and outlook

Our original plan is to align VTX ladders in the central arm coordinate. In
x-y plane, all ladders are aligned in DCH coordinate.

In z direction, there is a large (~1cm) discrepancy between VTX
coordinate and central arm coordinate , and between west arm and east
arm also.

We don’t think actual location of VTX is off around 1cm from the center
of central magnet.

We need to match central arm coordinate system and VTX coordinate
system for the alignment and global tracking .

We will discuss with central arm detector experts about this coordinate
problem.
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» dz=DC track projection in z direction - z position of
VTX hit + vertex_z (measured by VTX)

Mean of dz

« mean of dz as a function of ladder id for vix BO,B1,B2,B3

« Mean of dz is not centered at 0 (200-600um away)
because external alignment in z direction is not done yet.
Maya is working on this part.
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idea 1. internal [ZEDIZHMT S
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variables

*(central arm west — central arm east) Z offset

*(central arm west - svx west )Z offset

/

" (svx west — svx east )Z offset

-ladder by ladder z position in svx coordinate.
(written in svxPISA.par ,should not be changed
by access)
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